Unit 2 Review
| can determine if a function is linear
Determine if the table is linear or not. Explain your reasoning.
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Write the equation for each line. Determine the slope

15. 16. A
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Graph the line AND find the slope
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Write the equation in Slope- Intercept form
15. A 16. _ 17. Slope=5 Y-Int=-4
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I can graph an equation in Slope- Intercept form

B.y=—%x+2
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1. In order to become a member of Math Club, there is a $30 sign-up fee and a $8
monthly fee. Write an equation in slope intercept form to model the situation.

\= §X+30

What is the cost fo join the club for 6 months2 For 15 months?

V= 9(0) F30 N = 5018 30
\{:7(6 \[ = |50
$ 18 %ﬁ\gﬂmﬂj T 1560

2. When visiting Los Angeles, CA you need to rent an Uber to get from your hotel to Nick
Jonas’ house. Uber charges a flat fee of $4.00 and $1.75 per mile. Write an equation
in slope-intercept form to model this situation.

y= 115X +4.00
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What will the cost of your trip be if Nick lives 50 miles ov&dy? If he lives 26 miles away?

V=115 (30)+4.00 y = 119036) +4.00
(=950 y=44.30
§ .50 £ov 50 444.50 sov 2V
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3. Tojoin YouTube Red, it cost $40 to join and additional $10 per month. Wri"'re an
equation in slope-intercept form to model this situation.

\[= [0x+4O

“How much will it cost affer 11 monthse After 17 months?

= (O(( = (0((17) FHO
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4. To join the tennis team, it cost a flat rate fee of $75 and $30 per lesson. Write an
equation in slope-intercept form to model this situation

N=30X + 15
How much will it cost for 4 lessons¢ For 10 lessons?@
= 30(W+41S \ = 30(10) +715
\[':_ |95 \{: 515
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